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7. Black to play

Answers:

1. h5, fxe6, dxe6, gxh5, gxh5, Nxb5, h6, db,

e7+,Kxe7, n7,Nd6, h8=Q

4.d2, Bxc6, d1=Q, Qh8+, Kg6, Bes4+, f5

7.c2,Bg7+, Qxg7, Qe8, Qg6, Qxe7, Rb1,

Qf8+, Qg7, e7, Rxf1+, Kxf1, c1=Q+

Promotion Puzzles
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5. Black to play
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8. White to play

2.d6, Nd2+, Kg2, h3+, Kh1, Kg5, d7, Nf3,
dg8=Q+

5.¢cxb3, a6, b2, a7, b1=Q, a8=Q, Qes4+

8. d6, Qxeb, d7, Nxf1, d8=Q+
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3. Black to play
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6. White to play
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9. Black to play

3.Qgl+, Kxgl, axb1=Q+, Kf2, Qc2+, Qxc2,
bxc2

6. Rxe2, Rxe2, Rxd2, Rxd2, Bc1, Ke3, hb, f4,
h6, Ke2, Bxd2, f3, h7, f2, h8=Q, f1=Q, Qh2+

9.Ra2+, Kg3, Rg2+, Kn4, h2, Rf1, Rg1, a7,
h1=Q+, Kg5, Rxf1, a8=Q+, Ke3, Qa3+, Kf2,
Qcb+, Kg2



